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63181 = X18+, P13+
119071 = x31+, P19+




Block 1: | ¢10 ®20 ©30 P40 ©9,0 ©Pi1,0 P12,0
11 =x1,0 1
lo =x11 1
I3 =x1,2 1 .
261 = x2,0 1 1
262 = X2, 1 1
263 = X2,2 1 1
921 = X3,0 1
922 = X3,1 1
923 = X3,2 1 .
1961 = x4,0 1
1962 = X4,1 1
1963 = X472 . . 1
2731 = X5,0 1 1 1
2732 = X5,1 1 1 1
2733 = X5,2 . 1 1 1 .
4681 = X10,0 2 1 1
4682 = X1071 2 1 1
4683 = X10,2 2 1 . 1
6371 = X110 1 1
6372 = x11,1 1 1
6373 = X11,2 . 1 1 .
12741 = X13,0 1 1
12742 = X13,1 1 1
12743 = X13,2 . 1 . 1
16641 = X14,0 1 1 1
16642 = X14,1 1 1 1
16643 = X14,2 1 . . 1 1
57331 = X154+ . 3 3 3 3 .
21841 = X21,0 1 1 1
21845 = X211 1 1 1
21843 = X21,2 1 1 . . 1
114661 = X28+ . . . 3 3 3 3
40961 = X34,0 1 1 1 2 1 1 1
40962 = X34,1 1 1 1 2 1 1 1
40963 = x34,2 1 1 1 2 1 1 1
50961 = X35,0 1 1 1 2 1
50962 = X35,1 1 1 1 2 1
50963 = X35,2 1 1 1 2 1

©1,0
$2,0
©3.0
¥4,0
©9,0
$11,0
©12,0

25,
52,
196,
441,
1222,
1963,



Block 2: $5,0

3241 = Xe,0 1 w50 = 324
3245 = X6,1 1
3243 = X6,2 1

Block 3: | w6+ 16+

0oy = 1053,
10531 = x7+ 1 . oot T

73711 = X22+ . 1

84241 = x5 1 1

Block 4: $10,0

10532 = x12,0
10533 = X121
10534 = X122 1

()010’0 = 10532
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